Mott Run 1 Analysis Update

* User-set Time-of-Flight cuts

o set using configuration file in FullAnalysis directory
(cuts.config)

o  ToF Window — same for all detectors

©  Detector-dependent (L,R,U,D) T1s
T2 =T1+ ToF_window

o if no ToF_window specified, default case for all detectors:
T1=48 ns, T2=58 ns

o  If no T1 specified for a detector, taken to be 48 ns



Mott Run 1 Analysis Update

* Thickness study with independently set Time of Flights — 3
cases

* DeltaT10 — ToF_Window = 10.00 ns
T1 L=51.00 T1 R=52.00 T1 U=50.00 T1i _D=50.00

* DeltaTS — ToF_Window = 5.00 ns
Tl L=51.00 Ti R=52.00 T1 U=50.00 T1 D =50.00

* DeltaT4 — ToF_Window = 4.00 ns
Tl L=52.00 Ti R=52.00 T1 U=51.00 T1 D =50.00

* Previously, for all detectors, T1 =48.00 and T2 = 58.00



Physics Asummetry (2)
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Physices Asymmetry (23
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Phyzics Asymmetry (2
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Physics Asymmetry (2)

Same T1-T2 for all four detectors 48ns to 58ns
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Time Of Flight Cut A0 Alpha

DeltaT =10 ns 43.8083 +/- 0.2013 1 0.301312 +/- 0.008327
DeltaT = 5 ns 43.8172 +/-0.2013 | 0.301288 +/- 0.008325
DeltaT =4 ns 43.8215 +/-0.2014 | 0.301348 +/- 0.008328

48 — 58 ns 43.8146 +/-0.2017 | 0.301313 +/- 0.008343




Next...

* Use Time-of-flight cuts to look at only dump events — how do

they contribute

* Develop framework for user-inputted energy cuts
©  detector-dependent
o  same configuration file cuts.config

* Improve accessibility of analysis code



